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Direction: (i) The first 15 minutes are allotted for the examinees to read the
question paper.

(ii) All questions are compulsory.

(iii) The question paper consists of two sections.

(iv) Section-A contains 20 multiple choice questions carrying 20 marks
each to be answered on the OMR sheet.

(v) O.M. After marking the answer on the R. sheet, do not cut it and do not
use eraser, whitener etc.

(vi) Section - B contains short answer types or descriptive questions
carrying 50 marks.

(vii) Clause B contains total 5 Questions.

(viii) At the beginning of each question, it is clearly written how many
sections are to be done.

(ix) The marks of each question are marked against them.

(x) Start with the first question and continue till the end. Don't waste time
on a question which you cannot solve.
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Sgfadmedia usa :

Multiple Choice Questions:
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The distance between the points P(2,-3) and Q(10, y) is 10_units. The
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(D) 6
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The largest number from which 245 and 1037 are divided gives a
remainder of 5 in each case:
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If 2 is a root of the equation 2x*+ ax + 6 = 0, then the value of 'd’is:

W 2
LA ITHCEC=1©

©) 712 8xu taat (=

(c) -7/2 %(/\ = ’]‘U’ 7

(D) -7 (a:%

L6, S N3 & TN 301 3foaie shatel: 8 31T 2 &, dl et gnfl:

C—ermr  — -
If the sum and difference of two numbers are 8 and 2 respectively, then
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The distance between two points (2, 3) and (4.1) will be:
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(9. THIDEUT 3x2 - 2x + 1 = 0 pI fAfdehdne g :
The disERmetien of the equation 3x2— 2x + 1 = 0 will be:
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L-10. fSC I1C AT &, fA3{eT ABC & 3M1elTe BC & SHaTecle S&IAUS DE ST rargl
afc DB = 7.2 2T, AE E = 18 &3, EC = 5.4 &3, T AD BT 3Tl 91T :
In the given figure, the line segment DE parallel to base BC of triangle
ABC isdrawn. If DB = 7.2 cm, AE = 1.8 cm. EC = 5.4 cm, then the value of

AD is:
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The heights of two identical triangles are 3 cm and 4 cm respectively.

Ratio of areas of triangles:

&/M 9:16 0 & .
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In the figure, the area of the radius OAB will be:

(n) 4P @5)

B 419 @ 5 30° )

__  »B
<4+——— 4cm

(C) 49133 N

: — _(/Y = ’_el_iY hx
(0) sam WA R = S %7\7 ’

KO A
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The value of 2 tan? 45° + cos? 30° - sin? 60° will be: — Y19 =
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(D) TR A BIE gl

L 14. cos? 67°-sin?23° b1 el g :
The value of cos? 67°-sin2 23° will be:
(A) o

5. Wﬁ, 2C =90° 3{I2 tan A =71§ foAFAfsfEdd o1 ATl BT
_ The value of the following is: sin

In a triangle ABC, C = 90° and tan A ==
3
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If the common difference of a parallel series is -4 and the 10th termis -

8, then the first element of the series is
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. fetgarfesfedd amevft &1 aATeares aIf €91 : The median square of the

following table will be:

If the perimeter of a circle is equal to the perimeter of a square, then
the ratio of their areas is:

-
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18. T 3MTATEhTE BITeT 40 Sl x 22 3l Pl FISche Teb FHIETS dedal b 3HTehTe
" ST o 8, o ST 40 il 81 ool 1 P 2

A rectangular paper 40 cm x 22 cm is folded into a hollow cylinder
whose height is 40 cm. The radius of the cylinder is :

L/ﬁg}//35iﬁ?ﬁ

b
|

a9f 3oeles Class interval d1gddiedl frequency
0-10_ 7. —
0-20 5 _—
20-30 16 —
30-40 12—
40-50 2 _—
(A) 10-20
(B) 20-30

w,

30

57



(c) o0-10

(D) 30-40

/@.Mﬂ 31T ATeTD SHatel: 24.5 31T 26 §, dl 5P Tg3Dh I

If the mean and median of a distribution are 24.5 and 26 respectively,

then its mode is 51_
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SECTION - B

21. Haft 3191 & HHAT : Solve all the parts :

ﬂ)@@ﬁmmm,maﬁﬁvﬁswqﬁﬁamﬂw

7280 —

GedTesd e Zid g1 AT 3fefid 3ad g 3ide 34g & ST B1evT ifAt.
Without doing a long divmcess, find out whether the decimal
expansion of the rational number 637 will be consecutive or non-
constant periodic. Give reasons for your answer

1/(23) Ife sin 3A = cos (A - 26), GTE] 3A T YSIhIU] g, dl A b HTel STd hifdT
__If sin 3A = cos (A - 26), where 3A is an acute angle, then find the value
of A.

L@)(% oigp o 3MTelTe ot AT 3.5 At e SHare 12 Tt §1 eicp ot fadfes
TS STTd AT |
Wo cone is 3.5 cm and height is 12 cm. Find the
slant height of the cone.
lant height of the con




(A(8) I fole=ifesfEad sTedaredm sicel & 3fTdrs! T HATedE ATE 21.5 &1, dl p DI
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If the arithmetic mean of the data from the following frequency
distribution is 21.5, find the value of p.

X 5 15 25 35 45

f 6 4 3 P 2

_AB) T 3feTa Sd Hifte e fegai (-3, 10) 32 (6,-8) I Fieret ares
SENEUS D fdog (-1, 6) fAsfAd dedi 2 |

Find the ratio in which the line segment joining the points (-3,10) and
(6, -8) is divided by the points (-1, 6).

@) TRRT (x,y), Regaft (3,6) 372 (-3, 4) 3 eraTggeRt 2, ot x ote y o erorovr
STTd DHIAT |
ﬁ”rfmnts (x, y) are equidistant from the points (3, 6) and (-3, 4),

determine the relation between x and y.

sz.ﬁﬁbwmh’e any five parts):

(b) fgurd HfieheuT 2x2 - 4x + 3 = 0 B [Afdchebe STd DIfAIC 3¢ fthe !
— SlupmE ST

Find the quadratic equation 2x2 - 4x + 3 = 0 and then find the nature

of the roots.
( () N BANTA e YUITch et T3 35 I ot TIIT 340 B | HEAME 1l

I |

__The sum of squares of two consecutive positive integer even

numbers is 340. Find the numbers.

\/(UT) T AABC FTTSE, ferd BC = 6 daft, AB = 4.5 Feft 31z 2ABC = 60° €T
fihe T gEre fAs(eT bt edieTl BITAC foterh 8{iTC AABC ot ETd SfeArat
bt 2t €11 4

— 4 —

Draw a AABC with BC = 6 cm, AB = 4.5 cm and 2ABC = 60°. Then
draw another triangle whose sides are the corresponding sides of
AABC, 3-4. Be gunny.

| AT) T Ubrer Eqeel O felare & el U ees: o G TigTofl O 3fdeetel vy
ShaTer: 30° AT 45° £ 1 4TS Yeblel &idaf b Th gl 3i1e Th Welul gele Weldl
& ofep i 50 sffee P g¢t U2 2, o 21es des & WabTer aavet o et a1d
Sfger
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The angles of depression of two ships at sea as seen from the top of
a lighthouse are 30° and 45° respectively. If a ship is 50 m apart
from another on the same side of a lighthouse, find the height of the
lighthouse from the sea level.

(AE) TolesIfosiaid enevf & Heflode siTed Sd HifiT :

Find the arithmetic mean from the following table:

UTtdTd Recipients BTl ol T Number of Students
Al bl etedl.

5 & hdA 3

10 & BA 10

15 & BA 25

20 & HA 49

25 & hA 65

30 & A 73

35 & A 78

40 & BHA 80

| (@) fs=IfefEd aresdred deef & deads Sid Hifee

Class interval frequency
10-25 3

25-40 10

40-55 20

55-70 13

70-85 4

\/ZS.WHEFﬂWTﬁEFS hIfAT : Solve the following equation :

\/E’flﬂ'dﬂ'@[ Sofl Th &1 Td 3eTdb 3fchl bl Icheal UT deft ST T TNTHCS 66 2l
aﬁa@u|W2 , Al S&T ST HIfAT |
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The sum of a number formed by two digits and the number formed
by reversing its digits is 66. If the difference between the digits of the
number is 2, find the number.

1ind the number.

@eo sfice 33 fabef! sfael & felere 2, fbeft afiere & fale afie uTe & srdeeie
BIVT ghdTer: 30° il 60° &1 Hae bl HeEIE A cHIfAT |
From the top of a building 60 m high, the angles of depression of the
top and foot of a tower are 300 and 600 respectively. Find the height of
the tower.

3

T fafgan go sftee $3 U5 ue 98t 21 gedt des o fasefl fdog & fafgar o1 Iooidel
BIUT 450 2 | RSN Sifded e & e 5e1 Uehle 35l & fab Jereh! Yeft des & Samg
1ol 28l € | 2 AhUs i It fdog & AT T JooTdel DIvT 30° €l oIl 21
fAfSAT & 3ol bl ITs STTd HIfAT | (/3 = 1.732 BIfAT)

A bird is sitting on a tree 80 m high. The angle of elevation of the bird from
a point on the earth’s surface is 45°. The bird now flies horizontally in such a
way that its height from the ground level remains the same. After 2
seconds, the angle of elevation of the bird from the same point becomes
30°. Find the speed of the bird flying.

k/&@@?ﬂl@@ﬂ@@,ﬁaﬁﬁmm5 a8, BIS o1 eigpafl of

SaTeT B! o1l 2, foAordht Wi ot faiwa 3.5 @eft offe Sams 3 deft 2uger
TPhIe, Pcs fdsdal eigp Fotdl 2

A solid sphere of metal of radius 10.5 cm is melted and re-shaken into
smaller son radius 3.5 cm and height 3 cm. How many

cones will be formed in total?

3eqdr

1 &oft T a1t 8 At ol did chl Th B bl Toheailel HIeTs arc 18 3. &ad
TP d12 & &Y & Sftan ofrar 31 are Y e sa Hife -

A copper rod 8 cm long of diameter 1 cm is cut into a uniform thickness of

18 m. The length is drawn in the form of a wire. Find the thickness of the
wire.



